



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) \times \frac{3}{5} + \left(\frac{1}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{4} + \frac{2}{5}\right)^2 + \frac{3}{4}\left(\frac{1}{4} - \left(\frac{3}{2}\right)^2\right) =$$

$$\left(\frac{1}{4} - \frac{3}{2}\right)^2 + \frac{2}{5}\left(\frac{3}{5} - \frac{1}{4}\right) =$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{3}{4}\right)^2\right) =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{3}{4} + \frac{1}{2} - 3^2 =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{2} \times 3^2 \times \frac{1}{6} =$$

$$\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{3}{5}\right)^2 =$$

$$\left(4 + \frac{3}{4}\right)^2 + \frac{1}{2} - \frac{3}{5} + 3^2 =$$

$$\left(\frac{1}{3} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{1}{6}\left(\frac{3}{5} + \frac{1}{3}\right) =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) \times \frac{3}{5} + \left(\frac{1}{5} + \frac{1}{2}\right)^2 = \frac{79}{100}$$

$$\left(\frac{1}{4} + \frac{2}{5}\right)^2 + \frac{3}{4}\left(\frac{1}{4} - \left(\frac{3}{2}\right)^2\right) = \left(-\frac{431}{400}\right) = \left(-1\frac{31}{400}\right)$$

$$\left(\frac{1}{4} - \frac{3}{2}\right)^2 + \frac{2}{5}\left(\frac{3}{5} - \frac{1}{4}\right) = \frac{681}{400} = 1\frac{281}{400}$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{3}{4}\right)^2\right) = \frac{311}{720}$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{3}{4} + \frac{1}{2} - 3^2 = \frac{25}{2} = 12\frac{1}{2}$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{2} \times 3^2 \times \frac{1}{6} = 21$$

$$\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{3}{5}\right)^2 = \left(-\frac{167}{200}\right)$$

$$\left(4 + \frac{3}{4}\right)^2 + \frac{1}{2} - \frac{3}{5} + 3^2 = \frac{2517}{80} = 31\frac{37}{80}$$

$$\left(\frac{1}{3} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{5} + \frac{1}{2}\right)^2 = \frac{721}{900}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{1}{6}\left(\frac{3}{5} + \frac{1}{3}\right) = \frac{589}{900}$$